Closed Centre Power Chuck
N series

Closed Centre Standard Chuck
The standard Closed Centre chuck <

* CE correspondence

B Dimensional Drawings

30°

Serration pitch g
Y N-04,N-18:1.5
(Size x Depth) N-21,N-24:3 1 | 95°
— g
NT = @ S Note 2
S P = B
P) o)
(l\‘l-04,N-05) z | " Note 1
B ey iy >,7,,7E _IFL ~ T T
S |
&

T

T (N-04,N-05) (1 ol I
o‘ s

.- : <

-

Note 1) N-21,24:0°
Note 2) N-21, 24 : 60°

Gripping Characteristic Graphs

% With standard blank soft top jaw.

150 |L:1‘ 300

N—15

200

100

100

50 !

Total gripping force : kN
J

Total gripping force : kN
=2
|
R
™

N-04

0 1000 2000 3000 4000 5000 6000 0 1000 2000 3000
Speed : min- Speed : min-

B Dimensions ¥Mounting bolt P. C. D. for N-04 & N-05 : 120° pitch : 3 pcs. #Mounting bolt P. C. D. for N-21 & N-24 : 60° pitch : 6pcs.
Dimensions © N N O O P P Q R

Model max. min. max. min. max. min.

N-O4 [110]| 52| 60| 6 |80 | - | 3M8 12 | 14 | 233|201 |1125]| 825| 18 3123|110 |25 |MIOX16 | 3 |26 |27 | 55 - -

N-O5 |135| B5| 80| 7 |00 | - | 3-M8 14 1 19 | 304|272 |[11256] 675) 9 |-6 | 23 |10 | 35 [MI2X1.75] 3 | 28 |29 | 62 = =

N-O6 |165| 74 |140| 5 |1048| 21 | 6M10 | 14 | 20 | 378|3355|1375| 7.75/1015| 815 31 |12 | 36 [MI6X20 | 4 | 34 | 35 | 72 | M6X10| 116

N-08 |210| 85|170| 5 |1334| 25 | 6M12 | 20 | 25 | 463|419 |2225|11.75]127 |106 | 35 |14 | 36 |[M20x25 | 65 | 38 | 42 | 95 | MBX12| 150

N-10 [254| 89 |220| 5 |1714] 34 | 6M16 | 18 | 30 | 51.11467 |30.75|11.25/158 |133 | 40 |16 | 36 |M20x25 | 5 | 45 | 46 | 110 | M8x15| 190

N-12 304|106 |220| 6 |1714| 34 | 6M16 | 18 | 30 | 61 |5575[4875(1275|163 133 | 50 |18 | 36 |[M20x25 | 5 | 50 | 54 | 129 | MBx15| 190
N-15 [381]114|300| 6 |2350] — | 6M20 | 30 | 43 | 775|695 |4875|2325/104 | 69 | 50 |265| 55 |M30x35 | 2 | 60 | 61 | 135 |M10x20| 260
N-18 450|114 |300| 6 |2350| — | 6M20 | 30 | 43 |108 [I00 [4875|2325] 92 | 57 | B0 |255| B5 |[M30x35 | 2 | 60 | 61 | 135 |M10x20| 260
N-21 |530|125(380| 6 |3302] — | 6Me22 | 31 | 60 |86 |78 |935 |275 | 97 |62 | 65 (25 | B5 [M30x35 | 3 | 60 | 71 |180 [M12x30| 3302
N-24 610|125 |380| 6 3302 — | 6M22 | 31 | 60 [125 [I17 [935 [275 | 97 |62 [ 65 |25 | 55 [M30x35 | 3 | 60 | 71 | 180 |M12x30| 3302

[ | Specifications ¥Max. speed is shown using actual test data. For large type more than N-24., confer with KITAGAWA.
Specificatons Gripping range mn Jaw Stroke  Rlunger  Max. Draw Bar Max. Gripping Max. Speed Net Weight \Moment of inertia Matching Cylinder Max. pressure Matching ~ Matching

Model Max, Min, Comeen)  Stroke PSS kN Teen mint  MOSOIoRRNSs T o e pressure air  MPalkef/ome) Hard top jaw Soft top jaw
N-04 |110 8 64 15 82 (836)| 228 (2325)| 6000 4.T 0008 | YO0715R |AY-1315R|240(24.5) - SBO4B1
N-O5 |135 16 64 15 8 2 (836)| 2562 (2570)] 5500 6.2 0015 | YO715R |AY-1315R|240(245)| HBO5C1 | SBO5B1
N-06 |165 19 85 20 80(1835)| 525 (6353)| 5270 130 0045 | Y1020R |AY-1720R|260(265)| HBOBB1 | SBOBB1
N-08 |210 23 88 21 25 O (2549)| 750 (7648)| 4760 250 0.138 | Y1225R |AY-2225R|260(255)| HBOSAT | SBO8B1
N-10 |254 24 88 25 290(2957)|1080(11013)| 4010 370 0300 |Y1225R |AY-2225R|2.80(286)| HB10OA1 | SB10B1
N-12 |304 @26 105 30 410(4181)]1560(15907)| 3380 B/ 0725 | Y1530R - |270(275)| HB12B1 | SB12A1
N-15 | 381 72 16 35 82.0(8362) |2490(25391)| 3040 1010 1900 | Y2035R - 320(328)| HB15N1 | SB15N1
N-18 |450 133 16 35 82.0(8362)|2490(25391)| 2710 126.0 3.300 |Y2035R = 320(826)| HB15N1 | SB15N1
N-21 |530 62 16 35 820(8362) |2730(27838)| 1940 1980 7.100 | Y2035R - 1320(326)| HB18B2 | SB18A2
N-24 |610 152 16 35 82.0(8362)|2730(27838)| 1760 2520 12000 | Y2035R - |320(326)| HB18B2 | SB18A2




Closed Centre Power Chuck (Direct Mount)

N'A series

Chuck Adaptor is equipped to suit Spindle Nose
Closed Centre standard chuck

* CE correspondence

Bl Dimensional Drawings

Q
. X _y R,
s P Fig. 1 fL'J‘ . |
- _.-?_1-_ ;
i o
4
'y :
% i = @ 30° Note 2
G| W‘T £ o |~ @
z
1 15°
_i_ d ; \'IJI:/ - _ <}» Note 1
|
30°

i Note 1) B-21,24:0°
: Note 2) B-21,24:60°
|

th . Gripping Characteristic Graphs

#With standard blank soft top jaw.

T T
150 N=12A06 300

Fig. 2 N—12A08
= e
o ﬂ || ¥ Vi > N—15A08
& e 8 100 9 200 N=15ATI
i 5 T nCoEx S N=18A08
3 B 8 NCOBAGE 2
K { w A w N=24A087" L N=T8AT]
[ —
[ a — 3 N—22ATT
W) — 8 || N=06AOS a i
| € n T N=21A08
£ ® g 9 100 N=2TATT
L 'B 2 2
e =
0 1000 2000 3000 4000 5000 6000 0 1000 2000 3000
R . Speed : min Speed : min-!
#N- . N- . N- . N- . N- . N- N are referred to in Fig2 Mounting Bolt P.C.D for N- ~N- : itch : Bpes..
B Dimensions :\-10406. N-12406, N-15A08, N-18408, N-21A08, N-21AT1, N-24A11 are referred toin Fig2 M Bolt PC.D for N-21A0B~N-24A15: 60 Pitch : 6
Dimensions = N N 0 0 =} =}

Model max. min. max. min. max. min.

N-06A05 140| 82563 5 048 6 ) 2 4 35
-08A06 1701106375 5 334 6 25(11.75 4 515 42
-10A06 22011063751 20 | 5 334 6 .75]11.25 6 515 46
-10A08 2201139719 18 | 6 714 6 75]11.25 6 5|5 46
-12A06/304[120(220| 1083751 20 | 6 334 34 |6 /511275 8 515 54
-12A08|304[118[220{ 139719 18 | 6 714| 34 |6 ./5(12.75 8 51550 54 129

N-15A08[381[130/300(139.719] 22 | 6 /14| - |6 /512325 255 51 2|60 61 [135
-156A11]/381[130(300( 196869 22 | 6 2350 6M2 ./5]2325 2565 512160 61 [135
-18A08/450(130/300(139.719| 22 | 6 17141 — |6-MI ./5[2325 255 512160 61 [135
-18A11/450(130(300[ 196869 22 | 6 2360| = [BM2! /512325 5 255 5|2 |60 61 [135
-21A08/530(146(380|139.719| 27 | 6 1714] — [6MI6| 23 86 | 78 1935 |275 | 70 | 35 | 65125 51 3[60 71 1180
-21A11/530[146(380{196869| 27 | 6 2350| — |6M20| 28 86 | 78 1935 |275 | 70 | 35 [ 65|25 51360 711180

N-21A15[530(1461380(285775] 27 | 6 3302] - |6M22] 34 86 | /8 1935 [275 | /0 | 35 [ 65125 513160 71 1180

N-24A11[610[1461380(196869] 27 | 6 2350] — |6M20[ 28 |60 [126 [117 (935 |275 | 70 | 35 [ 65|25 51360 711180

N-24A15[610/1461380(285775] 27 | 6 3302] — |6M22]134 160 (125 [117 (935 1275 | 70 | 35 [ 65125 |55 513160 711180

Specifications Gripning range mm Jaw Stroke Plunger Max. Draw Bar Max. Gripping pax, Speed Net Weight - Moment of Matching Cylinder Max. pressure  Matching ~ Matching  Spindle
Min.

(diameter) Stroke Pull Force Force withSofttopjaws  inertia
g

Max. KN(kef) kN (kef) min’ N-me (kg'm?)  pressure Ellg MPa(kef/cm?) Hard top jaw Soft top jaw nose size

-06A05]165 19| 85 20 1180(1835)] 525 (6363)] 5270 | 140 | 0.050 Y1020R AY1720R [260(265)|HB0OBB1[SB0O6B1 [A2—5
-08A06|210 23| 88 21 [250(2549)] 750 (7648 4760 | 270 | 0148 Y1225R AY2225R | 250(255)[HBOBAT [SBO8B1 [A2—6
-10A06 254 24| 88 25 [290(2957)[1080(11013) 4010 | 400 | 0.335 Y1225R AY2225R [ 280(286)|HB10A1[SB10B1 [A2—6
-10A08[254 24| 88 25 |290(2957)[1080(11013)] 4010 | 400 | 0.328 Y1225R AY2225R [280(286)|HB10A1[SB10B1 [A2—8
-12A061304 26| 105 30 |410(4181)[1560(15907)] 3380 | 67.0 | 0.760 Y1530R - 270(275)|HB12B1[SB12A1 [A2—6
-12A08[304 26| 105 30 |410(4181)[1560(15907)] 3380 | 66.0 | 0753 Y1530R = 270(275)|HB12B1[SB12A1[A2-8
-156A08381 72| 16 35 1820(8362)[2490(2539)] 3040 | 111.0 | 2.000 Y2035R — 320(326)|HB15N1[SB15N1 [A2—8
-16A11[381 72| 16 35 [820(8362)[2490(26391)] 3040 [ 1080 | 2000 Y2035R - 320(326)|HB1ENT [SBI15NT [Ae—11
-18A08 1450 133| 16 35 1820(8362)[2490(25391)] 2710 | 1360 | 3400 Y2035R - 320(326)|HB15N1[SB15N1 [A2—8
-18A11[450 133| 16 35 [820(8362)[2490(2539)] 2710 | 1330 | 3400 Y2035R - 320(326)|HB15N1 [SB15NT [Ae—11
-21A08/530 62| 16 35 1820(8362)[2730(27838)] 1940 | 2190 | 7500 Y2035R - 320(326)|HB18B2[SB18A2 [A2—8
-21A11[530 62| 16 35 [820(8362)[2730(27838)] 1940 | 2160 [ 7.500 Y2035R = 320(326)|HB18B2[SB18A2 [A2—11
21A15/530 62| 16 35 820(8362)[2730(27838)| 1940 | 2260 | 7.700 Y2035R — 320(326)|HB18B2[SB18A2 [A2—15
-24A11|610 152| 16 35 [820(8362)[2730(27838)] 1760 | 2700 | 12400 Y2035R - 320(326)|HB18B2[SB18A2 [Ao—11
24A15/610 152] 16 35 [820(8362)[2730(27838)] 1760 | 2630 | 12.300 Y2035R - 320(326)|HB18B2|SB18A2 [Ao—15




